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Raghu and Babu are twins. Babu sister is Reema.
Reema’s husband is Rajan. Raghu’s mother is
Lakshmi. Lakshmi’s husband is Rajesh. How is
Rajesh rzﬁl;f#ed to gajan? ; ;
T & S A1 Sl & o1 1 58 {1 21 Ay o1 qid T 2,
T I AT el el @ e % 9 TS ) I T T §
e SR gt 31

(a) Father-in-law (b) Cousin

(¢) Uncle (d) Son-in-law

Sheela is Ravi’s sister-in-law. Ram is Ravi’s brother.
Ram’s wife is Sheela. Deepa is Ravi’s sister. Deepa’s
mother is Shanthi. How is Sheela related to Shanthi?
yite e 1 |l 8, T, W & 9O @ T & godt e &, &
T ot & @ T it @1 7 S e § R e
it 2l

(a) Mother-in-law (b) Daughter-in-law

(c¢) Grand daughter (d) Daughter

Suresh’s sister is the wife or Ram. Ram is Rani’s
brother. Ram’s father is Madhur. Sheetal is Ram’s
grandmother. Reema is Sheetal’s daughter-in-law.
Rohit is Rani’s brother’s son. Who is Rohit to Suresh?
T F T8 TH H I g1 TH T B AR 21 TH S e g
€, viael T F1 < & G viae 3 g @ Aed T F O 7
T8, aﬁﬁ%aﬁwwuég%ﬂagl

(a) Brother-in-law (b) Son

(c) Brother (d) Nephew

Among her children, Ganga’s favorites are Ram and
Rekha. Rekha is the mother of Sharat, who is loved
most by his uncle Mithun. The head of the family is
Ram Lal, who is succeeded by his sons Gopal and
Mohan. Gopal and Ganga have been married for 35
years and have children. What is the relation between
Mithun and Mohan?

TS Tedl o o9 T, o OEiET T F @ 81 T, e H
T 21 S {6 S (Amn) AT 9 39 e @1 ufar # giaen
T &1 fS7eeh g a2 31 T 9 Hie, Mt 9 7 35 o §
W 37T 31 S SR T ST 21 99 fAgT 3 e & g
ERIED]

(a) Uncle

(b) Son (¢c) Brother (d) No

relation

5.

Ravi’s father has a son Rohit who has an aunt Laxmi
who has a husband Rao whose father-in-law is Mohan.
What is the relation of Mohan to Ravi?

T & R &1 T 37 2 UM o1 SHH TF (Aunt) § & 7
3T Ufd § TG qA Ik TYL & Ae 09 A H P F @
T

(a) Nephew
(¢) Son

(b) Grandfather
(d) Uncle

6.

Seema is the daughter-in-law of Sudhir and
sister-in-law of Ramesh. Mohan is the son of Sudhir
and only brother of Ramesh. Find the “relation
between Seema and Mohan.

T, R F 9T Y (T7) § U1 W e 21 e, g
wéa%aﬁxrﬁmws%wm‘%l A TiEn & HiE B g

Farga
(a) Sister-in-law (b) Aunt
(¢) Cousin (d) Wife

A is D’s brother. D is B’s father. B and C are sisters.
How is A related to C?

A,D % E 8 D,B H i@ e, BaC T 95+ & 7 A,C ¥
fepg ST T 2

(a) Son (b) Grandson (c) Father (d) Uncle

Sita is the niece of Ashok. Ashok’s mother is Lakshmi.
Kalyni is Lakshmi’s mother. Kalyani’s husband is
Gopal. Parvathi is the mother-in-law of Gopal. How is
Sita related to Gopal?

ial, 379l i WIS &1 379k i A oAl 21 FHeA, et
1 A &1 FeArT F ufd A 21 gedt MuTet # 9 21 99
e el ¥ Y TR TrEfd 2

(a) Great grandson’s daughter

(b) Gopal is Sita’s Father

(c) Sita is Gopal’s great grand daughter

(d) Grandniece

Given that, A is the mother of B. C is the son of A. D is
the brother of E. E is the daughter of B. Who is the
grandmother of D?

A,B F A 21 C, A F1 321 21 D,E &1 9% §1 E, B F1 31 2
q@ D F A A 2
(a) A (b) B

(©C (dD

. E is the sister of B. A is the father of C. B is the son of

C. How is A related to E?
EB# T8 A,C % a1 B,C %2 2 a9 A,E § fw
THR GEfd 8
(a) Grandfather
(¢) Father

(b) Granddaughter
(d) Great grandfather

. Ais B’s brother. C is A’s mother. D is C’s father and F

is A’s son. How is F related to D?

ABHERIC,AR A 21 D,C & fUar 8 3N F, A & a2
21 9@ FD ¥ 59 R ga@fyd 2|

(a) Son (b) Grandson

(c) Great Grandson (d) Granddaughter

. Preeti has a son, named Arun. Ram is Preeti’s brother.

Neeta too has a daughter, named Reema. Neeta is
Ram’s sister. What is Arun’s relationship to Reema?
ffe o1 s 2T & e A swew 21 T, ffq & o /) A
off 1 i 92T 81 i TH F TR 81 T A 76T H G
T 2
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13.

14.

15.

(a) Brother (b) Nephew (c) Cousin (d) Uncle

A is D’s brother. D is B’s father. B and C are sisters.
How is C related to A?

ADH IERID,B%HMUaAIZ B3NC IN T 170 C, AT
e TR Frd

(a) Cousin (b) Niece (c) Aunt (d) Nephew

A is B’s brother. C is A’s mother, D is C’s father and E
is B’s son. How is B related to D?

A,BF 9E 81 C, A 9@ 8 D,C % 1 i E, B % a2
T4 B,D ¥ {9 YR gefud 2l

(a) Son (b) Granddaughter

(¢) Grandfather (d) Great Grandfather

B is the brother of A, whose only sister is mother of C.
D is maternal grandmother of C. How is A related to
D?

B,A 1 98 2| 19 984 C & 711 81 D C & A+ 81 7
A,D ¥ g y&Rr @i 2
(a) Daughter-in-law

(c) Aunt

(b) Daughter
(d) Nephew

Directions (16-20): Study the following information carefully and answer the
questions given below:

16.

17.

18.

19.

20.

21.

A and B are husband and wife. C is son of B. D is son
C. Cis married to P. P is mother of M. R is daughter of
M. M is mother of T.

A 3R B fF Ui 81 C,B ®1 [ 81 D,C & T 81 C i It
P % Q4 g2l P, M &I Wil 81 R, M %1 G 21 M, T 1 H7efl 8|

Who among the following is the grandson of A?

A & il & 8

(a) C (b) D ()M (dT

Who among the following is the granddaughter of C?
C = U5t %M B

(a) R (b) T (c)D (dM

Who among the following is mother-in-law of P?

P U & ?

(a) A (b) B

(oM (d) Either A or B

Pointing to a girl, Mihir said "She is the only daughter
of my grandfather's only child". How is the girl related
to Mihir?

TH ASH &I 3R TN Fd gC MR 7 Fa1 % a8 arar &t
THAH el 31 AR A B9 e § #E g 2

(a) Daughter (b) Niece

(c) Sister (d) Data inadequate

D is brother of K, M is sister of K. R is father of D and S
is mother of M. How is K related to R?

D,K &1 9E 8l M,K % 981 8| R, D &1 fudr 81 S, M i rel
21 @ arEd & K &1 R & 19 1 95y gl

(a) Son (b) Daughter

(¢) Son or Daughter (d) Data inadequate

MATH

A man leaves Rs. 8,600 to be divided among 5 sons, 4
daughters and 2 nephews, if each daughter receives
four time as much as each nephew and each son
receives five times as much as each nephew, how
much does each daughter receive?

22.

23.

24,

25.

26.

27.

TS AT T Fo 8600 F IR w5 T, 4 T, 2
it & s 1 At weis O, Seieh 9 § W’ A S
T SR T&F T, TS TS § 5 T 8T W F Al

T® T e I
(a) Rs. 100 (b) Rs. 600
(c) Rs. 800 (d) Rs. 1000

Two numbers are in the ratio 5 : 7. On diminishing
each of them by 40. they become in the ratio 17 : 27.
The difference of the numbers is :

q T 5 ;7 U H 21 AfE 37 I § § 40 s St
IR ST 17 : 27 & S &1 T SR ST - i

(a) 18 (b) 52 (c) 137 (d) 50

In 30 litres mixture of acid, the ratio of acid and water
is 2 : 3. What amount of water should be added to the
mixture so that the ratio of acid and water becomes 2 :
5?

e & 30 oiex fagur ¥ ufde 3R U @1 S 2 - 3 fha
T # U SR e ST s ufs $R U S e 2: 5 8
e ?

(a) 10 litres (b) 15 litres

(c) 18 litres (d) 12 litres

If 378 coins consists of 1 rupee, 50 paise and 25 paise
coins, whose values are in the ratio of 13 : 11 : 7. The
number of 50 paise coins will be :

378 faohl & W ¥ UF §I, 50 I T4 25 I F fah
TR 79 13 : 11: 7 & O & €, a1 50 9 & e &
T 1 w2

(a) 132 (b) 128

(c) 136 (d) 133

Rs. 3400 is divided among A, B, C, D in such a way
that the share of A and B, B and C, C and D may be as
2:3:4:3and 2: 3 respectively. The sum of shares of B
and D is.

To 3400 F A,B,C 3R D # fawfsa feam mam fad A ik
B,B 3R C,C 3R D & 9 %1 31U 2:3, 4:3 3R 2:3
2, @ B 3R D & &=t &1 9 e 22

(a) Rs. 2040 (b) Rs. 1680

(c) Rs. 2000 (d) Rs. 1720

Rs. 6200 divided into three parts proportional to

111 are respectively
235 '

af %o 6200@%:%;%%@1&%@3@&

feedi &1 79 91 w2

(a) Rs. 3000, Rs. 2000, Rs. 1200

(b) Rs. 3500, Rs. 1500, Rs. 1200

(c) Rs. 2500, Rs. 2000, Rs. 1700

(d) Rs. 2200, Rs. 3000, Rs. 1000

The ratio of the first and second class train fares
between two stations is 3 : 1 and that of the numbers
of passengers traveling between the two stations by
first and second classes is 1 : 50. If on a particular Rs.
1,325 are collected from passengers travelling
between the two stations. Then the amount collected
from the second class passengers is

Teolt St 3 gl Sl i Rt T S 3¢ 1, 3 vl
gt 3R THd vl # WO R ® AR @ $Fud 1: 50 2

WWW.Guptaclasses.com All the Best

by : Alok Gupta Sir & Ritu Gupta Mam



28.

29.

30.

31.

32.

33.

IfE T a9 fad To 1325 &1 Fo R agen T df gEd

Soit § YA R T FA fHTAT F1q B
(a) Rs. 1,250 (b) Rs. 1,000
(c) Rs. 850 (d) Rs. 750

In an examination, the number of those who passed
and the number of those who failed were in the ratio
25 : 4. If five more had appeared and the number of
failures was 2 less than eariler, the ratio of passers to
failures would have been 22 : 3. Total number who
appeared at the examination is
fE weh wlien ¥ U g o el U B bl ST 25 : 4 81 AR
5 B 37T 3 ST & el gU BH 2 HF & ST ol I gU BHT
el gU BT Sl ST 22 : 3 B ST 81 @ WA F T A
RIS
(a) 145 (b) 150 (c) 155 (d) 1180
The weight of Mr. Gupta and Mrs. Gupta are in the
ratio 7 : 8 and their total weight is 120 kg After taking
a deitign course Mr. Gupta reduces by 6 kg and the
ratio between their weights changes to 5 : 6, So Mrs.
Gupta has reduced by

3 IR T B A 7 : 8 % I H 81 3R IR
TS 120 fRoTo 1 A 37T TS 6 kg FH HL A &

T IS H ST 5: 6 B ST 21 A ITB Gl B T gI
EEEIEICICRY

(a) 2 kg (b) 4 kg

() 3 kg d) 5 ke

If there is a reduction in the number of workers in a
factory in the ratio 15 : 11 and an increment in their
wage in the ratio 22 : 25, then the ratio by which the
total wage of the workers should be decreased is

IfE T FREM & qoigdl S T # derdl 15 : 11 F o1ua &
21 SR S ASIGl 22 : 25 F I H IR S @l ITH FA
31 g% ASIGU I STU I A

(@)6:5 (b)5:6 (©3:17 (d)3:5

A Vessel contains a mixture of two liquids A and B in
the ratio 7 : 5 When 9 litres of mixture is drained off
and the vessel is filled with B, the ratio of A and B
becomes 7 : 9. How many litres of liquid A was
contained by the vessel initially?

TF 9 § 59 A 3R B # 7 ;5% 5 9 e fagur H
fhree g9 B fqeimar S @ @ U 7 : 9 & S /1
YOI H A fohe 7 i

(a) 10 litres (b) 20 litres
(c) 21 litres (d) 25 litres
Annual incomes of Amit and Veer are in the ratio ,
while the ratio of their expenditure is 5 : 3. If at the
end of the year each saves Rs. 1,000. The annual

income of Amit is :

3fie | ST T e A B A 3 ; 2 81 Sl Ik @i
£ 5:3 81 afc af & 3fd ¥ ye% To 1000 H s
FAT ¢ O T i afiss 3T [

(a) Rs. 9,000 (b) Rs. 8,000

(c) Rs. 7,000 (d) Rs. 6,000

A man ordered 4 pairs of black socks and some pairs of
brown socks. The price of a pair of black socks is
bouble that of a brown pair. While preparing the bill
the clerk interchanged the number of black and brown
pairs by mistake which increased the bill by 50%. THe

34.

35.

36.

37.

38.

39.

ratio of the number of black and brown pairs of socks
in the original order was :

TS A T IR SIS FIe & 79 FB el FH X
el mm%waﬁaﬁ?ﬁmﬂjmﬁwﬁaﬂqﬁﬁaﬂﬁ
21 e T A MR 3 At ¥ Hiet 3 R T H S
F T TR a5 R fog & e IR0 fad @ g
50% 9% ST 21 gEend ¥ el S R T & el &
A T R

(a) 2:1 (b)1:4 (c)1:2 (d)4:1

The ratio of number of balls in bags x,y is 2: 3. Five
balls are taken from bag y and are dropped in bag x,
number of balls are equal in each bag now. Number of
balls in each bag now is

T x ﬁ?yﬁﬁ?ﬁﬂw23%|qﬁ‘ﬁﬁﬁ3%yﬁ
fTeRTeT T ST ¢ F ST ST & off Qi sl TS i AT SR
2 Sl &1 A S S § e S e Jd B

(a) 45 (b) 20 (c) 30 (d) 25

In two alloys A and B, the ratio of zinc to tinis 5 : 2 and
3 : 4 respectively. 7 kg of the alloy A and 21 kg of the
alloy B are mixed together to from a new alloy. What
will be the ratio of zinc and tin in the new alloy?

Q fosreng A @R B ok qor fea shen: 5: 27 3:4 %
371 & 81 7 fehedl fasror A 1 9 21 fpelt fagor B o1 e
TS 41 0T g4 T @ A g § w9 9 @ e
I &

(a)2:1 (b)1:2 ()2:3 d1:1

A box contains Rs. 56 in the form of coins of one rupee,
50 paise and 25 paise. The number of 50 paise coins is
double the number of 25 paise couins and four times
the number of one rupee coins. How many 50 paise
coins are there in the box?

TF T H Fo 56 T &1, 50 T9 7 25 9 & faerl & &9
# 31 50 99 F fa, 25 99 F faahl § g 991 TF T &
foerhl | =R 7O 21 A 50 9 % fere g B2

(a) 52 (b) 64 (c) 32 (d) 16

To is chasing Jerry. In the same interval of time Tom
jumps 8 times while Jerry jumps 6 times. But the
distance covered by Tom in 7 Jumps in equal to the
distance covered by Jerry in 5 Jumps. The ratio of

speed of Tom and Jerry is
2T S # dieT 9 @ 21 9 2TH 8 % T @ df 9 6

T 21 R 218 foret gt 7 % & 79 ear & 3o & g
5 ®C § qF FC ofdl 1 O ST FTel Bl S e B
(a) 48:35 (b)28:15 (c)24:20 (d)20:21

A and B have their monthly incomes in the ratio 8 : 5
while their monthly expenditures are in the ratio 5 : 3,
If they have saved Rs. 12,000 and Rs. 10,000 monthly
respectively, then the differene in their monthly

incomes is
A 3R B & HifGeh 319 8 : 5 % 3UC § § el I G
Z95:3% ¥ 21 afe SR HA: To 12,000 3R Fo

10,000 &1 e &1 &, A S A T A fova @
(a) Rs. 46,000 (b) Rs. 52,000

(c) Rs. 42,000 (d) Rs. 44,000

The three successive angles of a cyclic quadrilateral
are in the ratio 1 : 3 : 4, find the measure of the forth
angle?
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40.

41.

42.

43.

44.

IfE forell = B & oI ST &0 1: 32 4 o AT |
g, @ < HIUT F AT T2

(a) 72° (b) 30° (c) 36° (d) 108°
Sunetra invested an amount of Rs. 50,000 to start a
software business. After six months Nikhil joined her
with an amount of Rs. 80,000. At the end of 3 years
they earned a profit of Rs. 24,500. What is Sunetra’s
share in the profit ?

(a) Rs. 14,000 (b) Rs. 9,423

(c) Rs. 10,250 (d) Rs. 10,500

Mr. Nilesh Agrawal opened a workshop investing Rs.
40,000. He invested additional amount of Rs. 10,000
every year. After two years his brother Suresh joined
him with an amount of Rs. 8,5000. Thereafter suresh
did not invest any additional amount. On completion
of four years from the opening of workshop they
earned an amount of Rs. 1,95,000. What will be
Nilesh’s share in the earning ?

(a) Rs. 85000 (b) Rs. 1,10,000

(c¢) Rs. 1,35,000 (d) Rs. 95,000

Hariprasad and Madhusudan started a business
investing amounts in the ratio of 2 : 3 respectively. If
Hariparasad had investing an additional amount of
Rs. 10,000, the ratio of Hariprasad’s investment to
Madhusudan’s investment would have been 3 : 2.
What was the amount invested by Hariprasad ?

(a) Rs. 18,000 (b) Rs. 12,000

(c) Rs. 8,000 (d) Data inadequate

The ratio of investment of two partners is 11 : 12 and
the ratio if their profits is 2 : 3. Id A invested the
money for 8 months, find for how much time B
invested his money ?

(a) 10 months (b) 11 months

(¢) 9 months (d) 8 months

Gangadhar, Ramesh and Sudesh invest the money in
a business in the ratio of 4 : 5: 6 respectively. If share
of Sudesh’s on total profitis Rs. 16500, then find the
total profit ?

45.

46.

47.

48.

49.

50.

(a) Rs. 42000 (b) Rs. 41250

(c) Rs. 33600 (d) Rs. 29000

Shyam started a business with an investment of Rs.
50,000. After 4 months Mr, Praveen joined with an
investment of Rs. 80,000. If in one year the profit is
Rs. 62,000, what amount Mr. Praveen would get as
profit ?

(a) Rs. 16000 (b) Rs. 14000

(c) Rs. 32000 (d) Rs. 11000

A sum of many becomes 3 times in 5 years. In how
many you will the same sum become 6 times at the
same Rate of the S.I1.?

(a) 13.5 yrs (b) 14.5 yrs

(c) 12.5 yrs (d) none

A deposited Rs. 5000 at @ 10%, S.I. for 2 years. How
much more money will A have in his account at the
end of two years. If its compounded some annually.
(a) 77.53 (b) 78.53

(c) 85 (d) 87.53

Rs. 16.820 is divided between two Brother of age 27
yrs & 25 years. they invested their money at 5% per
annum compounded interest in such a way that both
will receive equal money at the age of 40 yrs. The
space of elder Brother is?

(a) 8000 (b) 8440

(c) 8820 (d) 8420

The S.I. & C.I. for 2 yrs an a certain sum at a certain
rate of interest are 200 & 210 responsibly. find
principal rat of interest.

(a) 1000, 10% (b) 1200, 12%

(c) 900, 9% (d) none

A sum of Rs. 7930 is divided into 3 parts given on 5%
S.I. of A,B,C for 2, 3, 4 is respectively. If the amount of
all three are equal after their respective periods of
loon, then the a received a loan of .

(a) 2760 (b) 8000

(c) 25000 (d) 2750
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— ANSWER KEY

1. (@) 2. (b) 3. (d) 4. (d) 5. (b) 6. (d) 7. (d) 8. (c) 9. (a) 10. (@)
11. (¢) 12. (¢) 13. (b) 14. (b) 15. (b) 16. (b) 17. (a) 18. (d) 19. (¢) 20. (¢)
21. (c) 22. (d) 23. (d) 24. (a) 25. (a) 26. (a) 27. (a) 28. (b) 29. (d) 30. (a)
31. (¢) 32. (d) 33. (b) 34. (d) 35. (d) 36. (b) 37. (d) 38. (¢) 39. (a) 40. (d)
41. (b) 42. (c) 43. (b) 44. (b) 45. (c) 46. (c) 47. (a) 48. (c) 49. (a) 50. (a)

Hint & Soltuions
1. Li!&%ml Husbard. Rgh 6. o Sush
Mother Mﬂ“ Son
RP},‘hLIMBthiDRHHIHiMDRHJ-lll @ EE! g‘n Brother @ h
Now, it is clear that Rajesh in the father-in-law of Rajan.
Sister-in-law

“{Lx\‘% Shanthi
Married Mother

= Couple Brother . Sister

Sheela«———» Rame———» Ravi —— Deepa

® )

Now,itisclearthat Sheelais the dauther-in-law of'Shanthi.

Sheetal

Mother Married

Madhur <22 , Reema

®  Maeriea®)

" 4 ’ . Brothe
Suresh——s Suresh's Rame——

Father

Rani

s1ster Son

Ne phe
" Rohit

&

Now, it is clear that Rohit’s is Suresh nephew.
Ram Lal

Married l
® Couple % @ Brother
Gopal

Ganga Mohan
Mother Married
Sister Couple Brotl
Ram ——= 3 Rekha+«—2"5 Rekha's ———3 Mithun
husband
Mother
Sharat

Here, Mithun is the brother of Rekha’s husband. So it is
clear that there is no blood relation between Mithun and

Mohan.
®
> Mohan
&

®TFther

Father-in-law

®

s Mamlcd
| ste
g_% Ravi’s father ——> Laxmi ——3 Rao

Father Aunt

Ravi —2rother s, o ohit

Now,

it is clear that Mohan is Grandfather of Ravi.

Now, It is clear that the Seema is the wife of Mohan.

% Brother

2
%

Now, it is clear that the A is the uncle of C.
Parvathi
TMuthcr
Married

®
Kalyani Qc—m-)(i?pal

Tmm

Lalg)hmi
Mother
Ashok ?
lDlughlcr
Sita
Now, Sita is Gopal’'s great grand daughter.
®_l;i}':_i.:_1!.|.|_nothcr
Mother
BA——2
Daught l@
g2 Brother, Brothe

Now, it is clear that the A is the grandmother of D.
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12. Now, it is clear F is D’s great grandson.

®

Preeti Brothen, Ram Sistery, Neeta
l Son Daughter
Arun €

@ “Cousin

Reema

Now, it is clear that Arun is cousin of Reema.

Brothcg %

Jrane ®

13. ™
A

14.

Mother

@ EBrother B
lSon
E

Here, gender to B is not known, So, B can either be grandson
or grand-daughter of D. Now, by considering given options. Bisthe
granddauther of D.

15. D®

Now, it is clear that A is the daughter of D.

21. Son : Daughter : nephew

S D . N

D N S N
4 1 5 1
D : N S

4x 1x . bx

5son = bx X 5= 25x
4 Daughter = 4x x 4 = 16x
2nephew = x X 2= 2x

25x + 16x + 2x = 23x (total money)
43x = 8600
x =200
eachdauther = 200 x 4 =Rs. 800
22. a:b=5:7

Now reducing 40 from each

bx —40 17

Tx - 40 27

on cross multiplication
= 135x — 1080 = 119x — 680

= 135x — 119x = -680 + 1080
= 16x =400

X = ﬂ =25

16
difference =A-B
= Tx —bx = 2x = 2x 25 =50
23. acid : water = 2x : 3x
5x = 30 given
x=6

acid=6x2=12
water =3 x6 =18
.. Let x gram of water added to make it 2: 5

.2 12
U pe 18 +x
60 = 36 + %
24 = %
x = 121tr
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25.

26.

27.

28.

acid : water

2 :3)
same( 5
2 . 51

total = 2+ 3 = 5units = 30 ltr.
lunit = 61tr.
2units = 6 x 2 = 121tr. (water)
A:B:C:D=3400
=16:24:18:27
A : B : C:D
2 : 3

N
NN

Alternate :

16 : 24 : 18 : 27
16x + 24x + 18x + 27x = 3400
85x = 3400
x = 3400 = 40

c.share of B+ D is = 24x + 27x

= 51x = 51 x 40 = Rs. 2040

A B C
o1 D akenomof2, 3,5 =30
2 3 5
A B : C
l><30:1><30:1><30
2 3 5
15 10 : 6
15x + 10x + 6x = 6200
= 31x = 6200
x =200
Ist Class IInd Class
Fare 3 : 1
Passenger , 1 « 50
Total fare 3+ 50 = 1325
53x = 1325
53
x =25

. Amount collected from IInd class = 50x
Passed student : Failed student
P : F
25 : 4
25x : 4x = 29x total student
failure 4x
total student - 29x
After admitting 5 more students, Total students
=29x +5
New failure students = 4x — 2
P:F
22: 3 = 25y

New ratio =

29.

30.

31.

failure _ 4x-2 _ 3By
total appeared 29x +5 25y
100x — 50 = 87x + 15

= 13x =65
x=5
Total student appeared in the exam was
=29x + 5=150
Mr : Mrs
Before 7x : 8x
After by 6y
= before Tx +8x =120
15x =120
x=8
Mr. gupta =7x8=56
Mrs. gupta =8x8=064

. After lossing 6 kg by Mr. gupta the ratio be come
5:6
= Let Mrs. gupta loss x kg

. 56 —6 5
x5
300 =320 - 5x
5x = 20
x = 4 kg.
Old New

No. of workers 15 : 11
Wages 22 : 25
Total wages 330 : 275

66 : 55

6 : 5

A : B

Initial 7 5 .
Final 7 . g)%units

4 units =9 ltr.
lunit = g Itr.
4

B is added so, A part remins same and quantity of

mixture remains same

32.

-.amount of mixture =7 + 9 = 16 units

16 x % = 36 litres

Initial reatio = A : B

Tx : 5x
12x = 36 litres
x = 36 = 3litres
12
A =17x3=21litres
B = 5x3=15litres
Amit : Veer

Income 3 : 2

Expenses 5 : 3

WWW.Guptaclasses.com All the Best

by : Alok Gupta Sir & Ritu Gupta Mam



Saving 1000 : 1000 = 3x+5=3x-5
.. Income = expenses + savings x =10
3x — 1000 o 5 .. No. of balls in each bag is
2x -1000 3 x=2x10+5=25
9x — 3000 = 10x — 5000 y=3x10-5=25
x = 2000 35. Zinc : Tin
33. Black : Brown A Bx : 2 =Tx
pairs 4 : x B 3y : 4y=Ty
price 2 : 1 = A=Tx=Tkg
8 : x x=1kg
Original bill = 8+ x .. Zince in alloy A =5kg.
Black : Brown Tin in alloy A =2kg.
Pairs « : 4 =B = Ty = 21kg.
Price 2 : 1 y =3 kg.
22 4 Zinc in alloy B =3x3=9kg.
New will = 2x + 4 Tin in alloy B =3x4 =12kg.

According to the question, .. After mix-up the ratio of zinc and tin in new

% 38+ x)=2(2x+4) - Zinc Tin
= 244+3x =4x+8 A 5 2
x =16 B 9 12
Brown pairs = 16 A+B 14 - 14
Black pairs = 4 1 : 1
ratio=1:4 46. m =1 _ng-1
34. x oy T Ty
No.ofballs 2 : 3 3-1 _6-1
2¢ : 3x 5 12
=Now 5balls are taken out of bagifand Putinbagx So, Ty = 25 _ 12.5
2c+5 1 2
k-5 1
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